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��ก
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ก������������	
�ก�
ก���������������������������ก���������	�� ����� ก�
!�

��� ก����"���#$�����������  �%����&��ก��"��	�'�(� )��*ก+�(,�"� 5 .����'��"'  /#$��
���%�����/�ก��
������ ���$��#�0�$  ����"' 

1. ��3��ก+4��"�.	$.�ก�������� ���$��#� 
2. ��'����ก���%�����/�ก�������� ���$��#� 
3. /�ก�������� ���$��#� 

 
1. �����ก������� ��!ก
��
���
��������� 

 N  ��� 
%����ก�
!������!�� 
X   ��� �!��8�"�� 
S.D.  ��� �!���&"����&�����;�� 
E
1
  ��� (� ���=�>�����ก� &��ก�� 

E
2

  ���  (� ���=�>�����/����=� 
t  ��� �)�������&�" 
*  ��� � ��&����%���3����)����"� 0.05 
D  ��� � ���/��!��� ��!��ก!���� � ���������"�� 
D   ��� �!��8�"������ ���/��!�� 
SDD  ��� �!���&"����&�����;������ ���/��!�� 
%  of  mean ��� �$��� ����!��8�"�� 

 
2. ��#!$�!ก
�!%
��!���ก
��
���
���  �(I�����"' 

��'�����"� 1 /�ก����$���� ��(� ���=�>��	
�ก�
ก��������������  ����������
���ก���������	�� �����  ก�
!���� ก����"���#$�����������  �%����&��ก��"��	�'�(� )��*ก+�(,
�"�  5  ����ก4J�  80/80 
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 ��'�����"� 2 /�ก��.	$ก����$���� ��(� ���=�>��	
�ก�
ก��������������  ����������
���ก���������	�� �����  ก�
!���� ก����"���#$�����������  �%����&��ก��"��	�'�(� )��*ก+�(,
�"�  5  ������(�"�&��"�&/����N�=�O���ก����"��  ก!����"���� ������"�� 
 ��'�����"� 3 ก���*ก+�� ��&������.
�����ก��"���"��"�!�ก����"���$��	
�ก�
ก���
�����������  �������������ก���������	�� �����  ก�
!���� ก����"���#$������������%����&
��ก��"��	�'�(� )��*ก+�(,�"�  5 
 
3.  ��ก
��
���
���������  �%���������"' 
$�!��� 1 ��ก
����
'(���
)���
�*
+
,��' -.ก
/ก����
�0
1
�$��  ��2��'��
�
��
ก��
0��',2 (����$�� ก�-3��
��ก
����0!����
�0
1
�$�� �%
����!�ก���0! �#!
)��4�15ก�
)6��� 5 $
��ก�8�  80/80 �"/�����!�0(�"' 
 1.1  /�ก����$��	
�ก�
ก��������������   �������������ก���������	�� �����  ก�
!�
��� ก����"���#$�����������  �%����&��ก��"��	�'�(� )��*ก+�(,�"�  5  .����'��"'  �%�.�$0�$	
�ก�
ก��� 

%����  3 	
�  ���   

	
�ก�
ก���	
��"� 1 ��������	�"��ก�� 0�!�"��ก   
%����  4  	���Q��   
	
�ก�
ก���	
��"� 2  ��������	.&��"'����"����� .&��"'���#!    
%����  3  	���Q��   
	
�ก�
ก���	
��"� 3 ������������"ก� �#ก��������� 0�!�"ก� �#ก������� 
%����  5  	���Q��   

1.2 /�ก�����
��&(� ���=�>���$���������� �����	
�ก�
ก��������������   
�������������ก���������	�� �����  ก�
!���� ก����"���#$�����������  �%����&��ก��"��	�'�
(� )��*ก+�(,�"�  5  ������������R����/#$�	"���	�3  
%����  5  ��  (��กS/���������  ����"' 
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$
�
' 5 (�.'��ก
�,
/
��
��
����
�����'�'��)��ก��$3
'<  ��' -.ก
/ก���
�
�0
1
�$����2��'��
���
ก��
0��',2 (����$��  ก�-3��
��ก
����0!���
�
�0
1
�$���%
����!�ก���0! �#!)��4�15ก�
)6���  5  ��'���� ��0� 
�  5  �3
! 

 

�
0ก
�)����
! X  S.D. 
��.����
�

���
�����.����' 
1. .�
!�%
 �#(/')��ก��ก
�� � -.ก
/ก���ก
�
���0! 

   

  1.1  ������������	���
���$�.
�!�� 4.60 0.55 ��ก�"��
� 
  1.2  �%��� �%�.�ก��.	$	
�ก�
ก����"����	���
� 

��$�.
�!�� 
4.20 0.84 ��ก 

2. ��3�2����    
2.1 ก%���������"��$�����"��0�$	���
� 3.80 0.84 ��ก 
2.2 ก%�������'���0�$���&��
� 4.20 0.84 ��ก 

3. (�!ก
�/�.ก
����0!���    
3.1 �"

�(� ����ก����"���#$�"�	���
� �%�.�$/#$��"��

0�$&���
���)
(� ����ก����"���#$�"�ก%���� 
4.60 0.55 ��ก�"��
� 

3.2 ก�
ก����"�
�� �!������.�$/#$��"��0�$�"
/����N�=�O���ก����"���"��"�*'� 

4.60 0.55 ��ก�"��
� 

3.3 ก�
ก����"�
�� �!������.�$/#$��"���ก����ก+ 
ก� &��ก���������������� 

3.60 0.55 ��ก 

3.4 ก%������="ก������� (� ����/�0�$
�����$��ก�&

�(� ������ ก�
ก��� 

4.40 0.55 ��ก 

4. .�
!�!2#��
    
4.1 ���'����"���������$��ก�&

�(� ���� 4.60 0.55 ��ก�"��
� 
4.2 ���'����"����� ��"����&)$������ �� 

ก�&������/#$��"�� 
3.80 0.45 ��ก 

4.3 ���'����(I�0(����%���&��'���� 3.80 0.84 ��ก 
4.4 ���'����"������ก�!������ �� 3.60 0.55 ��ก 
4.5 ���'����"����	���
� 4.60 0.55 ��ก�"��
� 
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$
�
' 5 ($3�)  

�
0ก
�)����
! X  S.D. 
��.����
�

���
�����.����' 
5. .�
!(���.���(��(��?@ก��.    

5.1 �&&����&�"
%�������� �� 3.80 0.84 ��ก 
5.2 �&&����&�����$��ก�&���'����� 



�(� ����ก����"���#$ 
3.60 0.55 ��ก 

5.3 �&&UVก����"������ก�!��������  3.40 0.89 (��ก��� 
6. .�
!+
�
    

6.1 �������� �����������ก+� 3.60 0.89 ��ก 
6.2 ก��.	$�%��� ก�������������� 4.20 0.84 ��ก 
6.3 ����)#ก�$�����>�+��"�.	$ 3.60 0.55 ��ก 
6.4 >�+���$�.
�!�� ���� ��ก�&������/#$��"�� 4.20 0.84 ��ก 

7. .�
!��ก�
�)��ก��    
7.1 ��ก����"�.	$���� ��ก�&��ก��"�� 4.40 0.55 ��ก 
7.2 ����� ��ก�%�0(.	$0�$ 4.00 0.71 ��ก 
7.3 ��$�������.
���/#$��"�� 4.60 0.55 ��ก�"��
� 

    
����8�"�� 4.08 0.11 ��ก 

 
 
�ก����� 5 �&�!�ก����
��4��������� �������$�����	
�ก�
ก�������������� 
�������������ก���������	�� �����  ก�
!���� �����������  �%����&��ก��"��	�'�(� )��*ก+�(,
�"� 5 ���/#$�	"���	�3��'� 5 �!��Q��>������"�������� �������$��� ��&��ก �������
��4����
�$����"���%���&�������� ��
�ก��ก0(���$��0�$����"' �$���%�	"'�
�(� ก�&ก��.	$	
�ก�
ก���
ก����"�� �!��8�"����!�ก�& 4.40 �$���#!�����# �!��8�"����!�ก�& 4.00 �$���/�ก��
��ก����"���#$  
�!��8�"����!�ก�& 4.30 �$�����'��� �!��8�"����!�ก�& 4.08 �$���&&����&�&&UVก��� �!��8�"����!�ก�&  
3.60 �$��>�+� �!��8�"����!�ก�& 3.90 �$����ก���(� ก�& �!��8�"����!�ก�& 4.33 
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$
�
' 6  (�.'��ก
��
)���
�*
+
,��' -.ก
/ก����
�0
1
�$��  ��2��' ��
�     
��
ก��
0��',2 (����$��  ก�-3��
��ก
����0!����
�0
1
�$���%
���� 
!�ก���0! �#!)��4�15ก�
)6��� 5  $
��ก�8�  80/80  /%
!�! 9  �! 

 

�$��� ���� ����8�"��.�ก���%��&&UVก����� (S�&��� �$���  
ก�
ก���� ��!��ก��.	$	
�ก�
ก���ก����"���#$ � �������&������"�� 

	
��"�  1 	
��"� 2 	
��"�  3  
81.48 78.88 80.00 82.22 

����8�"���$���   80.37 (� ���=�>�����/����=�=81.48 
E1/E2  =   80.37/81.48 

 
 
�ก����� 6 �&�!�	
�ก�
ก�������������� ������ �������ก���������	�� ����� 
ก�
!���� ก����"���#$����������� �%����&��ก��"��	�'�(� )��*ก+�(,�"� 5 �"(� ���=�>�����
ก� &��ก����!�ก�& 80.37 �"(� ���=�>�����/����=���!�ก�& 81.48  �����!�	
�ก�
ก���
����������� ������ �������ก���������	�� ����� ก�
!���� ก����"���#$����������� �%����&
��ก��"��	�'�(� )��*ก+�(,�"� 5 �"(� ���=�>�� 80.37/81.48  Y*���#�ก�!��ก4J��"���'�0�$ 
 
$
�
' 7  (�.'��ก
��
)���
�*
+
,��' -.ก
/ก����
�0
1
�$��  ��2��'  ��
�

��
ก��
0��',2 (����$�� ก�-3��
��ก
����0!����
�0
1
�$���%
����!�ก���0!
 �#!)��4�15ก�
)6��� 5  $
��ก�8�80/80/%
!�!  30  �! 

 

�$��� ���� ����8�"��.�ก���%��&&UVก����� (S�&��� �$���  
ก�
ก���� ��!��ก��.	$	
�ก�
ก���ก����"���#$ � �������&������"�� 

	
��"�  1 	
��"�  2 	
��"�  3 
82.89 

80.67 81.33 78.33 
����8�"���$���   80.11 (� ���=�>�����/����=� =82.89 

E1/E2  = 80.11/82.89 

 
 
�ก����� 7 �&�!�	
�ก�
ก�������������� ������  �������ก���������	�� �����
ก�
!���� ก����"���#$����������� �%����&��ก��"��	�'�(� )��*ก+�(,�"� 5 �"(� ���=�>�����
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ก� &��ก����!�ก�& 80.11 �"(� ���=�>�����/����=���!�ก�& 82.89 �����!�	
�ก�
ก���
����������� ������ �������ก���������	�� ����� ก�
!���� ก����"���#$������������%����&
��ก��"��	�'�(� )��*ก+�(,�"� 5 �"(� ���=�>��  80.11/82.89 Y*���(I�0(����ก4J��"���'�0�$ 
 
��#!$�!��� 2 ��ก
�� � -.ก
/ก����
�0
1
�$�� ��2��' ��
���
ก��
0��',2 (����$��  
ก�-3��
��ก
����0!����
�0
1
�$��  �%
����!�ก���0! �#!)��4�15ก�
)6��� 5 �,2���)��0����0�
�����D�*
E�
'ก
����0! ก3�!���0!(�����'���0! 
 2.1 /�ก���(�"�&��"�&/����N�=�O���ก����"�������ก��"��	�'�(� )��*ก+�(,�"� 5  
� ��!��ก!���� ����ก����"��Q��.	$	
�ก�
ก��������������  ������  �������ก���������	�� 
����� �%����&��ก��"��	�'�(� )��*ก+�(,�"� 5 /�(��กS��������  7 

 
$
�
' 8  (�.'�3
�F���0  �3�!����0'��!�
$�G
!  �3
�4
$
�.�����  (����.��!�0�%
���

�
'�4
$
��'ก
��.����)��0����0���(!!���ก3�!(�����'���0!��'
!�ก���0! �#!)��4�15ก�
)6��� 5  N = 25) 

 

ก������& N 
X  S.D. t Sig.(1-tailed) 

ก!����"�� 25 16.55 2.37 20.07* 0.00 
������"�� 25 24.48 1.45   

 

�ก����� 8 �&�!�/����N�=�O���ก����"�������ก��"���"� ��"���$��	
�ก�
ก���

����������� ������ �������ก���������	�� ����� ก�
!���� ก����"���#$����������� �%����&
��ก��"��	�'�(� )��*ก+�(,�"� 5  ก!����"���� ������"�� �"� ����8�"����!�ก�& 16.55 � ���  ��  
24.48 � ��� ����%���& �� ������(�"�&��"�&� ��!��� ���ก!���� ������"�� �&�!� � �����&
������"�������ก��"���#�ก�!�ก!����"����!���"����%���3����)����"�� ��& 0.05 
 
 
 
 



 64

��#!$�!��� 3 ��ก
�)����
!��
�,5',��/��'!�ก���0!�����$3�ก
����0!.��0 -.ก
/���
�
�0
1
�$�� ��2��' ��
���
ก��
0��',2 (����$�� ก�-3��
��ก
����0!����
�0
1
�$��  
�%
����!�ก���0! �#!)��4�15ก�
)6��� 5   
  
$
�
' 9  ��ก
�)����
!��
�,5',��/��'!�ก���0!�����$3� -.ก
/ก����
�0
1
�$�� ��2��' 

��
���
ก��
0��',2 (����$�� ก�-3��
��ก
����0!����
�0
1
�$���%
����
!�ก���0! �#!)��4�15ก�
)6��� 5   

 

�
0ก
�)����
! 
X  S.D. 

��.����
� 
,5',��/ 

.�
!)J//�0!%
���
    
1.  �#!�����ก��"���".&�����#$  .&���   3.88 0.78 ��ก 
     �"�$��� �%��"�	���
�  �!����$���$�.
.�    
     ก�
ก����"�
 �%�    
2.  	
�ก�
ก����"������ก+��"����� �� 4.84 0.37 ��ก�"��
� 
3.  ���'����"�ก%����.�ก�
ก���ก����"������ ��    
     ก�&��ก��"�� 3.96 0.54 ��ก 
4.  �����"�.	$.�ก��(S�&���ก�
ก�����"�����!�ก��    
     ��"���#$���'���.���!� 	
� 4.68 0.48 ��ก�"��
� 
5.  ����.�ก�
ก���ก����"���#$�"�������� �� 4.04 0.79 ��ก 
6.  .&����"�������� ��ก�&��ก��"�� 4.12 0.83 ��ก 

��� 4.25 0.26 ��ก 
.�
!ก����!ก
�    
1.  ��'�������ก�
ก�����ก��"�������)(S�&���0�$ 3.92 0.81 ��ก 
2.  ก�
ก���ก����"��ก������"�����!���.
 4.20 0.58 ��ก 
3.  ก�
ก����!������.�$��ก��"���$����%���& 4.28 0.68 ��ก 
     �ก$(a3����'�������� ก�
!�    
4.  ก�
ก���ก����"��ก������"�%���&������ก�!���"�  

���� �� 
4.04 0.73 ��ก 

5.  ก�
ก���ก����"��ก��������� ��ก�&���� 4.16 0.69 ��ก 
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$
�
' 9 ($3�) 

�
0ก
�)����
! X  S.D. 
��.����
� 
,5',��/ 

6.  ก�
ก���ก����"��ก������!������.�$��ก��"��UVก 3.96 0.68 ��ก 
     ��&�$�  ��&����$��#��� ��$�����������#$    
7.  ก�
ก���ก����"��ก������"�������ก������  4.20 0.65 ��ก 
    ��$�/#$��"���(I��%���3    
8.  ก�
ก����!��������ก��"��(� ����(��&(�
������ 4.04 0.68 ��ก 

        �� �����&/#$����  ����
�.Ub�������#$��!��    
        �!������� 

   

��� 4.10 0.32 ��ก 
.�
!����
$    

1.  ��ก��"���ก�����������#$
�กก����"���$��	
�   
ก�
ก��� 4.00 0.65 ��ก 

2.  ��ก��"���%������#$�"�0�$0(.	$.�	"���(� 
%���� 3.88 0.83 ��ก 
3.  ��ก��"���"�����*���.

�กก����"���#$�$��	
� 4.56 0.58 ��ก�"��
� 
     ก�
ก���    
4.  ��ก��"���"/����
�กก���!��ก� &��ก��ก�
!� 4.12 0.78 ��ก 

��� 4.14 0.37 ��ก 
����8�"�� 4.16 0.18 ��ก 

 

�ก����� 9 ��ก��"��	�'�(� )�(,�"� 5  �"�����*���.
�!�ก����"���$��.	$	
�ก�
ก���

�����������  ������  �������ก���������	�� ����� �%����&��ก��"��	�'�(� )��*ก+�(,�"� 5 .�
>�������ก��"���"�����*���.
.�� ��&��ก  �"�!��8�"����!�ก�& 4.16  �"�!��&"����&�����;����!�ก�& 
0.1  �������
��4��(I�����$��&�!�  �$��"��"�����*���.
��ก�"��
� ��� 	
�ก�
ก����"���������ก+��"�
���� ��  �"�!��8�"����!�ก�& 4.84 �"�!��&"����&�����;����!�ก�& 0.37 ���������� �����"�.	$.�
ก��(S�&���ก�
ก�����"�����!�ก����"���#$���'���.���!� 	
��"�!��8�"����!�ก�& 4.68 �"�!��&"����&�
����;����!�ก�& 0.48 �$��"��"�����*���.
�$���"��
����  �#!�����ก��"���".&�����#$ .&����"�$��� �%�
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�"�	���
�  �!����$���$�.
.�ก�
ก����"�
 �%� �"�!��8�"����!�ก�& 3.88  �"�!��&"����&�����;����!�ก�& 
0.78 
 


